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2. + Question Details

find the limits, if they exist. (If an answer does not exist, enter DNE.)

T = 2o

Jas
2 05)= 55
2.(57)

Tobm 00,
,@u«@r\*fﬂ O f jhj
0- (@ @wﬁ )(R=5)

A sStre /QM? QLJO j

£ A 7£0>
we&

(N

é@@

S5Calck 1.8.002.

N[/
Y-

() lim[f) + o601 = — | 4
(b) Iimotftxj—gtxnj g (
(@ lim [Axg()]

=LA
/0\/

(&) Fm 2] = P ()

. fa)
d | —
S ieroe

(f) A-1)+ |Ll'|21 glx)

:’%,\/'2—

= (YD =

jm@ 9 > x—> Q

*=e

&'«é%)

o P () frfe

="

x>

2
= 2

-

The graphs of fand g are given. Use them to evaluate each limit, if it exists. (If an answer does not exist, enter DNE.)
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+ Guestion Details S5Calc 1.8.003.

4.

Evaluate the limit using the appropriate Limit Law(s). (If an answer doeas not exist, enter DNE.)
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+ Question Details SCalcé 1.8.005.

Evaluate the limit using the appropriate Limit Law(s). (If an answer does not exist, enter DNE.)
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+ Question Details

Evaluate the limit using the appropriate Limit Lawis]. swer does not exist, enter DNE.)
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6. + Question Details SCalct 1.8.007.

Evaluate the limit using the appropriate Limit Law{s). (If an answer does not exist, enter DNE.)

E a9 | ds bckeds 1o
3y s
N LT _ & >
:Y@P’Q(Y-(ﬂ(ﬁ\ + 8 ) T g 83
-0
- (5‘3( =320 4—§‘f’)_\} = g("i?’\v 9$§ [~
+~ S

7. + Question Details SCalcd 1.6.008.

Evaluate the limit using the appropriate Limit Law{s). (If an answer does not exist, anter DNE.)
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8.  + Question Details SCalcd 1.8.009.

Evaluate the limit using the appropriate Limit Law{s). (If an answer does not exist, enter DNE.)
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8.+ Question Details

S5Calck 1.8.010

(a) What is wrong with the following equation?
+x— 20
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(b) In view of part (a). explain why the equation

=x+3

)(-;“( ’

Lix) é@ v =Y. x5 oloes .

{’:SKX_-:L) = x+$ (‘f x:ﬁLf

lim XX =20 _ g (x+5) “f:”,_’zo -
isi:orrel::_H1 o o X_‘.f )(‘q
Thry ogw
ey wobort Pla mL _f;)_g

sl = 0 Fed
S

10.  + Guestion Details

‘SCalct 1.8.013.

Evaluate the limit. if it exists. (If an answer does not exist, enter DNE.)
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1. + Question Details

SCalck 1.8.017.

Evaluate the limit, if it exists. (If an answer does not exist, enter DNE.)
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12, + Question Details SCalck 1.6.020.

e . (PR
Evaluate the | t, if it t=. (If d t t, ter ODME. ). - —
aluate the limit, if it exists. (If an answer does not exist, enter ) a b) (q _),b’) -2 b
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13. + Question Details ‘S5Calck 1.8.024. |
Evaluate the limit, if it exists. (If an answer does not exist, enter DNE.) /L\J ggop/ &C
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14. + CGuestion Details S5CalcE 1.6.026.

Evaluate the limit, if it exists. (If an answer does not exist, enter DNE.]
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15.  + Guestion Details SCalcB 1.6.027.

Evaluate the limit, if it exists. (If an answer does not exist, enter DNE.)
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16.  + Guestion Details SCalcB 1.6.031.

Evaluate the limit, if it exists. (If an answer does not exist, enter DNE.)
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17.  + GQuestion Details SCalcB 1.6.033. [3354477,

A graphing calculator is recommended. /4/1'!&0 l v Wc‘ 3 )+ /
(a) Estimate the value of
\ﬁ:I el

x

lim —F—
=0 V1+3x—1

by graphing the function fix) = x/{v/ 1 + 2x — 1). (Round your answer to one decimal place.)

(b) Make a table of values of fix) for x close to 0 and guess the value of the limit. (Round your answer to six decimal places.)

(c) Use the Limit Laws to find the exact value of lim 7/ _ v Miox-1' N ,
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A Aims Community College > Index of /201/videos/chapter-.. >  #¥ plot(e/(sqri(3x+1)-1) from .. X =

€ © wolframalpha.com/input/Ti=plot(x%2F(sqrt(3x%261)- 1)+from+-1+to+5
plot{x/(sqrt(3x+1)-1) from-1to 5 8
BE B = Examples
Tot x 1005
plof —_ ve=—1tm0
V3x+1 -1

Complex-valued plot v

W

/\,\ S
~ .
2
— (o, v 9
co” (x from —1to 5)

\

\

L — real part
-1 1 2 3 4 5 — imaginary part

Aug 31-2:19 PM



1-6-notes.notebook September 05, 2017

18

+ Guestion Details SCalcg 1.8.035. [33541 53]I

19

& graphing calculator is recommended.

Use the Squesze Theorem to show that Iim (w? cos(6mx)) = 0. Illustrate by graphing the functions
x—30

fx) = =x2, glx) = »* cos(6mx), and h(x) = x* on the same screen. -
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+ Question Details S5Calck 1.8.037. [

If3x—4 = flx) =x? - 3x+ 5forxz0, find lim Ax).
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+ Question Details

SCalck 1.8.039.

Evaluate the limit, if it exists. (If an answer does not exist, enter DNE.)
3
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+ Guestion Details
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SCalcd 1.6.043.

Find the limit, if it exists. (If an answer does not exist, enter DNE.)
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2.+ Question Details

SCalck 1.8.045

Find the limit, if it exists. (If an answer does not exist, enter DNE.)
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23,  + Question Details SCalck 1.6.047
The signum (or sign) functicn, denoted by sgn, is defined by /\‘7 (X)
-1 if x<0 @0
sgn x = o if x=0.
1 if x=0 7 X

Czc}
(0/ | \

(b) Find each of the following limits. (If an answer does not exist, anter DNE.)

(i} lim sgnx'—'—( /\,& [g‘?n, (X)/

{a) Sketch the graph of this function.

x=0F

(i) lim sgnx — — ( % S>>
x—=0"
(i) |||'|'| sgn " g \ > Y

(iv) lim |sgn x| — (
®=0

24, + Question Details SCalck 1.8.050.

Let

1. ;
.Fl:x:l={x z if a0 < l.
(x—3)% ifxz1

(a) Find the following ||n'||15 (If an answer does not exist, enter DNE.)

||n'| ﬁ:x) —/a,\, b3 -4—71\—- f "',L ’3 Y C ¥ & f
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(b) Does Ji:ni Flx) exist? NOQ /QW'; S'\(Y-) - ’S qé_ ._{ — /Q\»—\._ C(X)
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25. + Question Details SCalcB 1.8.052.
Let
x ifx<l /_/7 ‘%
=} ifx=1
- . v
glx) 2-x fl<x=2
=1 ifx=>2
(a) Evaluate =ach of the following, if it exists. (If an answer does not exist, enter DNE.)
(i) lim gz =1 a8
x=1"
4N
{ii) lim g(x)] =2-1 = /
X1t
17 STAR
i gf1) =5 - \
(o0
(iv)  lim g = 2-32= O
X2
) lim gt =2—( =
=27 L C/\
vi)  lim gix) Z . Lefd i /"ﬁl‘ rsEgt
x—=32
(b) Sketch the graph of 3.
26. + Guestion Details

SCalcé 1.6.053. [33916

(a) If the symbol W

exist, enter DNE.)

o m H (43 < quadest g <
(W lim qx{g [5‘.12{ =5
iy dim jx[:—‘{

(b) If n is an integer, evaluate the following. —
- PREPN
M lim_ x[z n-\
(i) Iim_ -x]-’; n e
x ” . o
() For what values of 5 does lim ||x| exist?
r—tg B & “\@
— T
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o ) 2t v ot Nk 332 T1203 0 £

o C,Ay»},ms'

denctes the greatest integer function defined in this example, evaluate the following. (If an answer does not
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SCalck 1.8.0568. [3354232]

2r.  +

Guestion Details.

In the theory of relativity, the Lorentz contraction formula

L=1Lgy1- wifcd
expresses the length L of an object as a function of its velocity v with respect to an cbserver, where Ly is the length of the object at rest
fon

and c is the speed of light. Find lim L. .
veT Sperc o F /ﬂ«'jA’L s o ce/ﬂ >
W,’-('L\ 1SS |

Why is a left-hand limit necessary? v 7C\\J—7 %1 Mj bbc(j
/l/)awL‘v V\ac\}'"c @Q&%

m é@ '-’(\ v C/
$o v—>Cc~ IS 5’“’&7 ’}/&v‘\?@/
td wmalds Wﬂ/‘f/\gﬁ«z@

b’? HUA \/\400( .

28,

+ Guestion Details

29,

fx) -8B _ g . evaluate  lim ).

If lim
= =1 = -
i o | ' /Qw_ M 4o con rerge.
p()()% x—> | X=1 -’0 x> 1
O e {ij 0 says, Sl Sem Cense, ) —>8
o dtmes bxskor Fran x—=

SCalcé 1.6.080.

+ Guestion Details

If lim m = 2, evaluate the following limits.

=0 .1(1
-[\(XB

{a) Iirnoﬁ:xj =0 o
= (4' .
/0.‘ X . f()(\ _ j LTz = /0-\_\, X ~— x"l_
B Gm i = M T T T e % >o X0
=D X Y O X O
= O .
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30.  + Question Details SCalck 1.6.082.

Show by means of an example that lim [fx]) + g{x)] may exist even though neither |lim fAx) nor lim g(x) exists.
x—ta x s x—ta

8=0, 4—\6\3:){?/3&):—;‘(
0o o0 A Ao 900 F bt
7 e (s (5 ] T 0
A RN /A IRV Il AN UL S
L (fosot) = e L™ x [Ty
3. + Guestion Details SCalcB 1.6.085.

Find the number s such that the limit exists.
X—o =2
Y
o i taxtatiz Crxez = Ga)x-0) 270 o
im ——— = ~=
w1 ¥+ -2

X—>-2
Find the value of the limit. go J /"WJ \JYL"' QY ‘I’a“' ‘2/ _— O
W WGL/ —-A\_{ a @_+/2¢
% _2a+!
() ral)yra +HZ -% ser
set k_( 2-% —a \,1_8 —
=< Y] e
o= k2 17 e
— =
2 -3 =0 H pnBy 2B+ 172
=8

— k{\("’ —"'Z/%X—J— L‘O
x 43I+ \0
(1) Dy ="
2 4

x—> - 27
o) s =

M(X*\B <x=-2

Loy =

1

3
—3
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